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1)  You are to construct a box with an open top and a square base.  The sides cost $20 dollars per square foot and the base costs $25 per square foot.  The box must have a volume of 12.5 cubic feet.  What dimensions will minimize the cost of the box?

2)  You have to construct three equal side by side storage bins.  The storage bins will have fencing on three sides with one side open for delivery and pick up.  The total area to be enclosed by the three storage bins is 2500 square feet.  What are the dimensions of each storage bin if you minimize the amount of fencing used?

3) Find the largest rectangle that can fit between f(x) = -x3 + 4, the x-axis and the y-axis.
4) Find the closest distance to the graph f(x) = -x3 + 4 from the point (2,0).
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